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Q1. faar T 8 fF 24 H¥e T Y[ T 8.18 Hee FHT % & AT © 3R 20 He
T 5/6 Y[S TIHT 8.18 Hee T A Y& T BT 20 I 94 A 5 9 A 3guE
fraar 82

(a)3:8

(b)9:10

(c)1:2

(d)8:5

(€)5:8
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Q2. TP Wpd &I WIET # AsH] &1 3Hd Wk 71 8 3R asfedl &7 3 d TR 73 .
I T A ¥ T d BT 3T TBR 71.8 8. Te # SufRId asd] & T3 H1
asfeal @t G- | 3UTd JTd HIT?

(a)4:5

(b)3:2

(©)3:5

(d)5:2

(e)2:5
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Q3. A 3R B U HTUR H 4000 ¥UT 3R 5000 FTUT BT f49% 3 8. A B ufawg
MR I P forg ary # | 100 UT YT Bid & TF AW AT HY 39 a9 &
3T ® qieT 9TaT 3. 9f¢ T a9 # ‘A’ B $d &Y & T UT H 3600 TUT UTW 8l &,
I B &1 UTW AT JTd HIfeg?

(a) Rs. 4000

(b) Rs. 3000

(c) Rs. 5000

(d) Rs. 6000

(e) Rs. 3500
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Q4. LAPTOP & $d fbaq adie! & saafud far wirar 37
(a) 360

(b) 365

(c) 345

(d) 400

(e) 720
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Q5. T fATe &1 HIfrd 31U a1H 9eTH & forg fedhe &1 ged 20% "er &1 fAvka
AT 8 3R 39F ufvum Wy, ftde 3t fAwt 7 400 F1 gfG et 21 afe, 39 uRad=
& URUIY WY 98 U1 ITdle® JHa- | 1,68,000 B gfex ® & H&H g1 8,
dt pa dhad § ufafes feaq o= @ gfS gidt 82

(a) 14,000

(b) 18,000

(c) 24,000

(d) 20,000

(e) 16,000
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Q6. U% fRT 864 TXIY Wl € 3R 379 | 800 TXIY, 864 T3 P WG oI W
AT 81 AW TG 3T P 98 37 800 TXI3HT & JHH Yeu Ui 9% Bl &% A d=a1 31 39
R A | 3rfota ary wfa=ra fvaen 82

(a) 7.5%

(b) 8%

(c) 8.5 %

(d)9 %

(e) 10 %
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Q7. W 3R Tidt F TP fAYUTT BT YR 50 UTH 81 $HH 80% AT 31 frgreng & 9=
31 fora-t A frars s a1 & 99 o 90% T gfs 81”

(a) 50 U9

(b) 60 TTH

(c) 30 UTH

(d) 40 TTH

(e) 20 UTH
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QCreatorDeepak Rohilla

Q8. Tfe S 31§ o fUaT Y &Y 31 FT Ueh-feTs MY H1 g 3R 5 a9 Ugal U fudr &1
&ngzrﬁwaﬁrzré 3T &1 T, A ISP U1 HY 3d F 5 I8 a1 fha-t 3mg & g

(a)2

(b) 45 T

(c) 40 T¥

(d) 50 %

(e) 48 TY
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Q9. IR 1200 fH*Y gars UTAT a1 8 N YS! AT BT 2/5 8. T IAT HT 1/3 d8
PR Y 79 Hd1 8 3R AT YT 98 7 | HdT 8. o gRT a7 &1 1t gt fpa oft»
(a) 1600 fopdt

(b) 800 fapHt

(c) 800 Ht

(d) 480 foeit

(e) 1200 fopit
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Q10. Two trains starting at the same time from two stations 200 km apart and going in
opposite directions cross each other at a distance of 150 km from one of the stations. What
is the ratio of their speed?

2 T € gHT H 200 o @R € R Y= A1 § IR faudia e # o gu ve
WYY 150 forr P g2 TR Th GUR 1 TR Hcll & | SAD! 1 T U [T 82
(@)1:2

(b)1:4

(c)3:1

(d)3:2

(e)3:4

L1Difficulty 2

QTagsTrains

QCreatorDeepak Rohilla

Directions (11-15): fRrafaf@a ust & & wftew=or (1) iR (1) few e &1 Y It
P 5 B 3R IR difvTe-




. x2+15x+56=0
o ILY* +17y +72=0
(@) 3T x>y
(b) e x=y
(@3 x<y
(@)l x<y
(e) e x = y a1 A&y wIford 78 fopan <1 T @
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L2x2-9x+10=0
1z, 119y - 57y + 88 =0
(2) 3¢ x>y

(b) TG x=2y

(©dfE x<y

(@) TG x<y

(e) TE x = y U1 ey Wfq 81 fpar ST gt 8
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.3x+ 2y =7v14

013,11 10x + 14y = 38V14

() 3fE x>y

(b) TG x=2y

(©dfE x<y

(@) x<y

(e) TG x = y U1 Gay WG €1 fpar ST gpar 8
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I.x°-11x+28=0
Q14. .y +3y-40=0
(a)Tfd x>y

(b)afd x>y
(©)Tf¢ x<y



(@)l x<y

(e) TG x = y T &Y WITUT T fpar ST qbar ©
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I. x* = 361

Q15. ILy=v441

()T x>y

(b) TG x=2y

@3 x<y

(@) TG x<y

(e) TE x = y U1 &y wIfq 81 fpar ST gpar 8
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Solutions

S1. Ans.(b)

Required ratio

=9:10

o Lo | L

Sol.

S2. Ans.(b)
Let total no. of students are (x + v)

Where,

x = No.of boys

y = No. of girls
~71x+73y=71.8 [x+v)
=Bx=12y

= x:y=3:2
Sol. ¥

S3. Ans.(b)



3600
12

Monthly receiving of A =

=300
(A's profit) : (B's profit) = 4000 : 5000
=4:5

S 200

B's profit after a month =

=250
~ Total receiving of B = 250 = 12

Sol. 3000

S4. Ans.(a)
6!
Total no. of arrangements = —

2!
Sol. =360

S5. Ans.(c)
Gross collection per day will increased by
. 1,68,000

7

= Rs. 24,000
Sol.

S6. Ans.(b)
Let C.P. to man per article = x
~ 5.P. of 800 articles = 864x
and S.P. of 64 articles

864x
= X
800
= 69.12x
" F 933.12- 864 100
aa rofit=————x
b 864

Sol.

S7.Ans.(a)



Sol.

Initial quantity of gold

80
=——x50
=40g
and that of silver = 10g
~ Let x gm of gold is added to the mixture.

a0
& (50 ¥ —— = 40
(50 + x) 00 +x

=45+ 0.9x =40 +x
= x=>50g

S8. Ans.(d)

Sol.

Let present age of father = 3x
Present age of Dennis = x
According to question,

3x —5=(x—5)4

= 3x—5=4x—20

& x = 15 years

~ Required answer
=15% 3+ 5=50 years

S9. Ans.(b)

Sol.

S10.

Sol.

S11.

Total distance travelled by Suresh
= 1200 X =

= 3,000 km

Distance travelled by train

= 3000 - (1200 + 1000)
=800 km

Ans.(c)
Let the speed of the train = x kmph

Then, speed of another train = v kmph
150 _ 50

X ¥
::tx:}:lz

3:1

Ans.(b)



L.x*+ 15x + 56 =0
X+ 7x+8x+56=0
¥(x+7)+8(x+7)=0
(x+7)(x+8)=0
x=-7,-8

ILy*+17y+72=0
¥+ 9y +8y+72=0
y(iy+9)+8(y+9)=0

(v +8) (y +9) = 0
y=-8,-9
=
Sol. =7
S12. Ans.(c)

I.2x* -9%+10=10
2x* -5x-4x+10=0
¥[(2x-5)-2(2x-5)=0
(x-2)(2x-5)=0
5
= x =23
2
I.9y? — 57y +88=0
9y? — 24y —33y+88=0
3y(3y—8)—11(3y—8) =0
(3y —11)(3y—8)=0
11 8
Y¥=373
Sol. X=V

S13. Ans.(c)
3x + 2y = 7\/14 (i)
10x + 14y = 3814 ...(ii)
On solving (i} & [ii)
x = ‘uﬁ,y = Z‘uﬁ

X<y
Sol.

S14. Ans.(e)



Lx*-11x+28=0
x* - 7x - 4x +28 =0
#(x-7)-4(x-7)=0
x-4)(x-7)=0
x=4,7

ILy*+3y-40=0
y-+8y-5y-40=0
viv+ 8] -5(v+8)=0
y+8)(y-5)=0
y=-8,5

Sol. Relationship cannot be established

S15. Ans.(c)
x? =361
x=%19
y=+441 =21

Sol. X%¥



